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O 20 message = "examination" 0000000000

ooo

(1) message[3] DO OOOOODOOOOO
(2) message[5 .. 101 OO0 OOOOO
(3) messagel[s .. 21 DOODOOOO
(4) message[0, 31 OO0 OO0OOO

030 00=xM4% 00000wlgl 00000000000
0000000k wO0O0O00000000000000000
oooo
(1) 00000000000 salt(x, w) 0000
(2) 000 4[%] 0000 500(g) O 6[%] 0000 300([g]
00000000000000000000000000
(3) 000 20000000000000 RubyOOOODO
ooo

040 DARGVODO0O0OO0O0O0DODODOO (argv.rb) 000
OO0 ./argv.rb 10 200000 ruby argv.rb 10 2000
ooooooooooooo

#!/usr/koeki/bin/ruby

numberi ARGV[0] .to_1i
number2 = ARGV[1].to_i
result = []
numberl.step(50, number2) do |il
if 1 % 3 ==
result << i
end
end
printf (" [%s]\n", result.join(","))

050 000000000000 20000000000

0 oo1
ogd o10
ggd 100

0 3[01 000 200fcc] 00O 40[g] 000000000
0000000000

| 0b1 x 0d3 + 010 x 04200 + 06100 x 0d40
D000000000000000000000000D0 10

0001600020000000

() 0000 0 2[0]1000 10[ccl

(2) 000000 OO0 200[cc] 000 10[g]
(3) 000 O 3[0]1000 20[g]

060 00OD0DO0OODOOOOO0OOs00[0]1000 40[0]10
gobooboobooobooobooboboooooboooDn
000000101000 so000[0]1 0000000000000
oboboobobOoboboboooobooocoooooooon
OO00OO0O0O0O 200400000 s0[0/0]1000 ADQ00D0O
O0040[0] OO0O0O0O0O0OsO] OO0O0OO0O0O0O0ODOO
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| 500[0] x 50[0] + (40[0] — 8[0]) x 5000[0] = 185,000[0] |
000000 ADOOD GO 7000000000000
000000000000000qe.txt 0000

qc.txt
oooooo oooo

goaA 0.2 50
gooB 0.3 75
goc 0.3 90
odDbp 0.45 110
OOE 0.55 135
goF 0.6 150
gbo e o.7 200

gboboboobobobobooboboobobono
gobobooboobooooboobooooboon

#!/usr/koeki/bin/ruby

nocheck = 40 *x 5000
check = Hash.new(@)
open("qc.txt", "r") do |f]
while line = f.gets
it /(0 hrs+(\ar\ a9 \s+(O D/ == 1ine
check[$1] -= (500 *
+ (40 - 40 * E} * 5000
)
end
end
end

for result in check.keys.sort{la,bl
EEPNGE)

STDERR.printf ("%-20s%8d O \n", result, E)
end
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